EEERLARMRIKREREANI]

fﬂ(ﬁ E/J\}i. I/l/‘f)

HﬁTE‘EﬂF’

§nuE*kinT1$EEﬁEET%&L\iﬁAIi EX.BER. ERELEADELAFETHAL

L &bl
BR%E: AN ERF® A BIGFE (BHEERE) A
© 1) 3155 8BRS (10adp1=Y)

B 18 2H 3H 4H 5H 64 7H 8H 9H 108 1148 128 &t
ﬂ;g% ([ F|E[R[F|E[ PRI E[R[F|E[R[F|E[ P F|E[R[F| E[R|[F|E[PR[F|E[R[F|E[P][F|E[BR[F] =°
Fhike 20 2.0
HEHE - 5 FE 13 05 1.8
HokiBYE 0.0
i+ 0.7 08 15
XERY 36 3.6
B 02 0.2
B 08| 0s 1.6
FREE - B X 08|13 15| 13| 08| 13| 06[02]04]02]02 3.6

0.0
0.0
0.0
0.0
0.0
‘S{ E‘I‘ 00|o00|o00f0Of|OO]JOO|OO|OO|fOO|OO|OO|OO|fOO]|OO|OO|OO|OO|] 20| 13|08|20| 15| 26|08|13]|06]|02|04|02]|02)]36|10|08]|00]|00] 0.0 19.3
XHEEFRIE. AR A OHTEHA,
OB
595 —(35F A, 32K N) . BEMKQE) . R GR) . IV N1U(65) | BLIEH. EWRE Bt (770 —4—)
S EHAR RN EE
A [ [ [ [ [ | [ [ [ OF [ 1B | T8 | e
) LIEIJI'FILIEPI'FILIEF'I'FILIEPI'FILIEF'I'FILIEPI'FILIIIF'I'FILIEPI'FILIIIF'I'FILIEPI'FILIEPI'FIJ:IEIJI'Foﬂi
[
O:EHE
EfHAR (0] | | WURFE
IR S (kg/10a) 180 180
B{fi(F/kg) 360 360
25(A) 0 0 0 0 0 0 0 0 0 0 64,800 0] 64,800
EIEW(E) 0
£ 64,800
SFEH E(10ad1=Y) S EEH10ad1=Y)
24 BE ] ERER 8 e ] BE 28
BT 5 200 1 1,000 R 1 0
0
At 1,000 |t 0
OHE*J«EOOaW—U)
e EAE ke ik i3 HRmE EX S XILWFEHH0adt=Y)
FREERL 40 55 2,200 [ && | FBH | WoceE | =8 |
0
0
0 B
0
0
0 QEHEYEE (10adh 1Y)
23 Ef] BE =5
At 2,200 R 252
XEEE={EFE x Bl EE 0
ST DhFEMFLE(10adh 1Y)
e fikia) i %E FERER =%
NEEE 386 &it 252
BEE 4849
SZTDMDER
S Ex
A JASEREE
&3t 5,235
KEF=—BExBE-FREXK it 0
SEFEE(0adp1=Y)
X3 i i EE Bhe EE: ] OHEERE0abH1=Y)
0 ZH EX ]
0 BER 1,000
&t 0 EHE 2,200
ZDHEMH 5235
QEN NS EKE(10adp 1Y) EEE 0
uu% piki ] BE FERER E ] (B AREBKE 4,634
AV Bl 1 1,634 557 0
IKFIE 3,000 SZIHOFEHE 0
0 FEYEE 252
0 ZTOMDER 0
0
0 &t 13,321
&it 4,634 XEEBEIEHEOHTHE




